BN BERY Y h—Hh=E

ARG

FE1@EBAEXI Y bAR—LY—=4 FEIXRT—T

Al

JFL:

[SF =t S TET R ]

http://www.jfa.or.jp

B K [ 1999Z10828 [13:00 [RA&MRK[05 ERK3H | RIB% [ErHREEHLEE RS
x & 2 S R[21.0Cc B B [75% B B E v FikEE BqEN
IyFaAZIviaF— AR &Fih B B iy LB FiEEH HFE RE Z £ERZ 5024
EE HE L= B ' XRB B2 RS S IEE R FIE
(R—LF—L) 1 [ED 2 (FYzTAF—L)
S A= -I 0 mE 3 5 v =——&
KICK OFF
2R Sa—F # B[] & : 5 Ta—F B
No. | OUTESTH ARl 2F4 s|lE|®|=s EFA BN OUTEE R o,
0 R XE 2| GK| 6K | 21]FE B= 0 895
835> 0 B = 18| DF | DF | 13|7E3R & 0
0 AR EEA 2| oF | OF | 24|B DI HEA 0
0 KE 5% 4| oF | oF | 17|mARS EZ 0
20 2 WE S8 3[oF|oF| 5|BA E: 0
11 2 ZHE EH 15| MF | MF | 6|4EmE == 0
1 1 AH BH 6| MF | MF | 12|iEiE =& 1 1
2% 0 WA Fit 12| WF | MF | 19|prER 2= 1l 20 1 1
301 4 WE hE 10| MF | MF | 10|=% #nrE 2 4 2 2 785
11 2 3 BT 8| FW] Fw| 25|28 X8 1l 1 1 865>
304 7 |EH wxE 1) FW | Fw | 11[EE F8 1l 2 2
EEEES 21 K[ 6K 1[=# =8l 0 21
2% 2% 19| DF | DF | 20|Rm@ X#
A E— 25| DF | MF | 7|#B=% = 1 1 10
12 0 A 2R 20| MF | MF | 22|FZE #A
18 0 YH B o FW] Fw | 18|K#t =& 0 25
ZE - Bi5 BE BB Z2E - Bi5
675 Z | 10 #45 HE 2% |/ME &) KiZ 8 3357 Z | 17 BBF E& RAR -y
195 | = irt RE 255 AT
894 5B | 6KHE & iR 33 = 3oy
8 11 19]>2—+Kr 11/ 5 6
4 6 10 GK 15 8 7
4 2 6 CK 4 2 2
4 3 THE¥EFK 14 6 8
4 0 4AmEFK 5 2 3
4 0 4/(MF) 5 2 3
00 0 00 PK 00 0 0
SRk 85F—L4 [No. BaE 207 |BEBE BEE: ~ FUJ)L —:J0/RR 1 FEHRIR xBE S:Ya—k HAFsUY
65|V =—& | 10 =8 FOE 0—1 | £CK 19 1 -1 10 HS
1753|v=—la | 25 BE X8 0—2 [ dhx-2 19 - 11 - 19 i -1 25 | HRES
24|C+ ko " RE 1—2 | -2 #@FFP - |2 11 Hv bk ~ hf-1 HES
b4y =—lis | 11 Bix FiR 1-3 | #CcK 19 1 rhR-1 11 HS
6895 |V =—iu&a | 10 S FE 1—4 | H-2 19 - a-1 25 ~ i -1 10 HS
894 |V =—ilis | 19|fAEF 2= 1—-5 | H-2 11 - a-1 7 ~ — Bk 19 | 5 4uhh
BES
[EX & rFRE] BT45:53(00:53) #4:48:29(03:29) HARTERFR01:49:04

[&#E]




